@205 2Tt dH (P QD) xlsx

£ | srmies o BB |t (RS LFRIAISE
FEE | () |BlEHL =i % |aEenLiRERBERONEL)
B 1 |nonewn| HHL ek TR0 B AL

1 HERREOHRE

REFBH 2N B A M R ()
BE M E BEGO xt R 1E B [T - TOHDEY [T
H
1 3L (BE)RNIBEE 50
HE 150 SLREL) 50 |b4(RED) HADE 50
E i
(5BHEE
(3 8 m & 1 2 3 4 5 6 7 8 9 10 11 12
T+  [3EL(HEQ) 50a |O ©
ih
) |EDEED
A
i
%
Rl |© BE O HATE Inig

2 FHREH
BEMEH B oW oM #&
THs, FIA HiE fEihal T ] BOHEED
518 FI A BRHFEN2A HIEAE R A
M- FE SR 2 Bk
HEOF UL
ARFEHTiE JAHTT E, R




@29%F 8 T 1 (FAEQ) xlsx

3 BERY (10att-Y) _ B 23 (PAEQ) HoEbLsd  {ER. FTh _
i} B & % g w7 (7) # IR &% O & W
(A) IR 1,308,000| &% (7) A REE B i PETE A REE B TR
ERE 4 0 9 0
¥ & 35,016[ 5% (1) 5 0 10 0
BEE 78,545| B & () 6 0 11 0
B | ¥ |[BhiBE 14,734| &R (T) 7 2,000 654] 1,308,000 12 0
HEMHE 27,200| B % (4) 8 ol &5t 2,000 654] 1,308,000
NEEE 13013[&5 % (A) NHEHE &R | & = [ Bl & & I3
X | Bt [BEHHES 0 HEAE 2t 1] 7,000 7,000
s (EYiEE 10,300| & B {@HE D 1% B A4S 20ke 4| 3,132 12,528
B[ XEH#E 13,500| & {B{f1&D5% HIRS v T H #8067 20ke 15| 3467 5,201
B\ & (B (ElES 57,525 TIS  20kg 2| 2916 5,832
i (KEH#E 51,429 & [RIRTUSAL 20ke 5 891 4,455
& | KEEY 10,480 £ 35,016
=2 (B | WitEH 311,742 (MEER % & [ Em| & & CES
# | LB BE-KHE 3,000(%%—%£3,000M/10a5t £ Bt 34,582
& |[HERLE 5461 | ZEEERTH. s A (BRH 39,578
E | {8 [ 0 BREA 3,888
B | iEFHE 274000137 /kg__ TeaRFI A, 15.4M/ke BB, 61.7M/ke EaE 497
5 EE 26,400[13.2F."kg g 78,545
& |BRFEFHH 130,800 15 7% - JAF $%13% n [(T)FHZ B = | BEm | = % B =
ERFE AVIr  (JybkL) 78.2 145 11,334
Z D1t 1514[B =B D1% B (kL) 123 0
(c) BE&S 758,917 i 3,400 AEE D 30 %
OFfFF 5B 549,083 (A) —(C) & |[AEH (JwkL) 0
Q@ 1§ &% 42|D+A KT 3 (JyhiL) 0
@ FrEHERE 338 BER (kwh) 0
i 14,734
Y [HEMEE % 5 [ Em| = & S
BxL 8,000 3.4 27,200
HEEHME HAXEFHRHIZEEND
=t 27.200
2 [(MWHNHEER % = | Em| & & S
) 1] 2,500 500(fR FHEE#R 5
[Fiva 1] 12,000 2400|fHEAES 5
DCEY 1] 1,500 300|fHFHEE# 5
I 1] 2,500 500(fR FHEE#R 5
IRFE % 1 850 170|THFRESR 5
InEMNZ 3] 1,300 1,300 |t FHEE#R 3
INFERITT 15 900 2,700|fHEAES 5
EESmAR Y (50007) 2| 18,000 5143|THRESR 7
i 13,013




029452 T bt (R EQ) xlsx

4 {EE7-ARIVEERER (10adif-Y) EB: 3L (hEQ)  SiE: GoBLED {ERL: Tt
1 | 2 | 3 | 4 | 5 | 6 | 7 8 9 | 10 | 11 | 12 | &
e [ Fl T FITE T F[FIETHR T FIETHT T[] E b Tl & FlE & FIE[R]F[ETF T FIETHE]TFIETHFTTFI
[ @) ©
BiR-5 160 | 8.0 40140 407200 56.0
i) 2.0 4.0 2.0 8.0
i -RE 2.0 2.0 2.0 2.0 2.0 10.0
i 10 1.0[ 10 10[10 10 10 1.0 1.0 1.0 1.0 1.0 1.0 13.0
- R - REER 16.0 | 16.0 16.0 | 8.0 12.0 80| 40 80.0
RHF 160 | 320 16.0 8.0 72.0
EXK-EREE 3.0 3.0 6.0
INFE (g E) 26.0 | 40.0 66.0
B - T 40150 19.0
#OY-FEB-FAE 40 40 8.0
] Al &t 160 80| 20| 00 00 00| 00[190[170[ 1.0 00 17090 70 360 40.0[21.0 00| 1.0[80 330550 0010110 50 40| 10/ 00 00| 20| 00| 00] 00 40200
Az 26.0 0.0 36.0 18.0 52.0 61.0 42.0 56.0 20.0 1.0 2.0 24.0 338.0

HELOBER




D205 T 3+ (P EQ) xIsx

5 BEEEAREHEIBEENE 5B 33 (h4EQ) Lobesh {ER:.  Eih

mOE | RRmE | R W | SEEE | REES | 0N | B | RASY FEDE

@i || © @ | @ | @ | TP aw | O

(5 (EFEE) 8T 100 |m 6,000,000 [10/150[a] 6.7 400,000 31 12,903

2 (BRMEER 15,000 |m 9,000,000 [10/150[a] 6.7 600,000 14 42857

¥ (BTKEE 100 |t 450,000 [10/150[a] 6.7 30,000 17 1,765
i
5
AN
E

N E 15,450,000 1,030,000 57,525

AE—F A7 L1y — = 2,000,000 [10/150[a] 6.7 133,333 7 19,048

¥ [ERE 4 4ps 11& 1,000,000 [10/150[a] 6.7 66,667 4 16,667

W (BrZyy 660cc 11& 800,000 [10/150[a] 6.7 53,333 4 13,333

- [EEE 6.3ps 11& 250,000 [10/150[a] 6.7 16,667 7 2,381
g5
1=

N E 4,050,000 270,000 51,429

13 EIEE 50 |a 650,670 0 0.0 0 15 0

X % HMho= 50 |a 760,140 0 0.0 0 15 0

# 3% HopEH 50 |a 785,970 |10/50[a] 20.0 157,194 15 10,480
}E
)|

N E 2,196,780 157,194 10,480

& § 21,696,780 1,457,194 119,434




